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g ) Pufaf@d § & &F 91 Y9 Jid I &: (T&),

dHR fig P, Q, R, S ATl WHA & cigdd &)

A /PQS = /PRS
B. /PQR + /PSR = 180°
C. /PQS = 90° = /PRS = 90°

D. (PQ)(RS) + (PS)(RQ) = (PR)(QS)

Answer: C
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2. A & fgH, fGAe fav gl
2+ (1-2)z+ (N —-A—-2)=0 & U
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A2<A<Hh

B.l< A< 4

Cl<A<5b

D.2< A< 4

Answer: D
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f:(2,00) — [0, 00), f(x) =
gRYTd g, i f &:

A. Thd! 3R 3T<BIG!
B. Udhdhl &l oifch 3T<SIa
C. Ubh! Afp 3meerd) 78l

D. q ) Uhh 317 T & 3=sIc
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A. A.87

B. B. 97
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D.D. 222

Answer: C
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C. (c) +C
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7. g (1) ¥ ERA 9 AR 3dbd FHIBUT

dy z+2y—3
de y—2z+1

'\EITﬂW%:

Bl AJE PR dicd b P

Az —dzy—y? +6x+2y—4=0
B.z’ +4dzy —y? — 6z +2y+4=0
Caxl+doy—y®>—6z—2y+4=0

D.z’ +4dxy+y* — 6z —2y—4=0

Answer: C
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Answer: B
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A. TFF
B. FFF
C.FTT

D.TTF

Answer: A
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A. A3

B.B.6

C.C5

D.D.O
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= ... —
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B. B.(4% — 45 + 21%)
L/ » “ »
C. C'E (32 + 77 + Qk)
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Answer: D
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A2c+3y+2+7=0

B.2z — 3y — 2z +22 =0

C2x +3y+2—-22=0

D.2z +3y+2+13 =0

Answer: C
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Ay=z+1
B.y=2x +1
CrH+y=2

1
D.y =4 —
Y w-|-2

Answer: A
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Answer: A
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3 T cos xdx
_[2 = / 6 %,Fl_d
0 1+ (zsinz + cosz)

A. 2_[1 — Iz

B. Il — 2[2
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C. Il — I2

D.I1, =1,=0
Answer: C
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